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for a periog of -
(@) 5 years
(©) 15 years
Which of ¢4

e anowing
(a) Nepent

hes

() 10 years

(d) 20 years
is an insectivoroys plant?
-(b) Nelumpo

(d) Nicotiana G?
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R

PCS
\J 0. Which of the following is not a part of the 10. f=fafaa 5 ﬁ:{ A e @
| Article 20 of the Constitution of India? WY 20 DT fow TE 87
r -; (a) prohibition Against (b) Prohibition against W & faee fFw (b) g aue favs
- |' Torture Self Incrimination ey B O Ao
(c) Ex-post Facto Law  (d) Double Jeopardy (©) FHToR R (d) 2YEY U B R
Clause
i1. 4vilind Panho’ is in the form of a dialogue 17 ‘Afee g=ar YT fafe=s aen U@ arg ﬁ’f&i D
/ petween King Milind and Buddhist Saint. The e ¥ w9 3 2| 9% g O —
concerned saint was - i b) HHIRS 9
| (a) Nagarjun (b) Kumaril Bhatt {/a,l fid:; ;TW
| (c) Nagbhatt (d) Nagasena ClARTIE :
12. What do we call balancing the need to use 12 WUl @ STANT G MMWW&W
resources and also conserve them for the future? 2 AETIHAT PN Hgferd &= B B 9T HEd
(a) Future resources  (b) Resource &7
e 5 gonﬂeruation (a)- 9= + HEEE (b) HHEH HRE0T
eaucing ustaina : = TS
consumption develop::nt G ki v ol g : 1
13. Match list-l with list-Il and select the correct 13 Al B eIl ¥ gaferd DI AT o
answer using the code given below the lists — % A Ry 1Y ge ¥ 98 S IAY —
List =1 : gn-ﬁ_;
_ Book LiED @
(A) Mirat-e-Sikandari (A) BRTA—0—Rid=<
(B) Burhan-e-Masir (B) TXBTH—T—HIRR
(C) Riyaz-us-Salatin (C) RIaT—SH—waas
(D) Riyaz-ul-insha (D) RIN—Sa-3m
List —1I 'v.‘j\'tﬁ—ll
Context g
(1) History of Bengal (1) d7el &1 sfaE™
(2) History of Bahmani’s Ahmad Nagar (2) IBH11 B JBHSTR BT e
(3) Collection of Mahmood Gawan'’s letters (3) #89= a1 B UA BT GBS
(4) Victory of Gujarat (4) ORI o
Code - He —
(@) A-(2), B-(4), C-(1),D~(3) (a) A-(2), B-(4), C-(1), D-(3)
(b) A-(4), B-(2), C-(1), D-(3) : (b) A-(4), B-(2), C-(1), D-(3)
(¢) A-(4), B-(2), C-(3), D-(1) (©) A-(4), B-(2), C-(3), D-(1)
(d) A-(1), B-(2), C-(4), D-(3) (d) A-(1), B-(2), C-(4), D-(3)
14. \When was the Census work done for first timein 14 WRa ¥ S=ET9MT &7 $14 |dued @9 [ T
India? _ e ¢
(3) Inthe year 1861  (b) In the year 1850 (@ a9 1861 H (b) 7 1350135
() Inthe year 1871  (d) In the year 1881 (c) af 1871 % (d) o 1881 e
15. Which of the following is not an economic 15 Fr=ifeRas 3 & @i W omid Bhal
activity? 5 | (a) GRaEs (b) foparl (@)
(@) Transportation Farming i
(c) Service (d) Voluntary Social (c) AT (W il

- Service

M s
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lopment
; ference to the Human Deve L
i :;::,t:ﬂre 2021-22, which of the following
statement is/are correct? . :
(1) India’s rank on the Human Developmen
Index has upgraded from 130 in 2020 to 132
in 2022. '
(2) India’s rank on the Human Development
Index has stipped from 130 in 2020 to 132 in
2022,

Select the correct answer using the code given
below —

16 WA R R, 2021-22 9 Wt #, FrefoiRe
ﬁﬁaﬁﬁmfﬁmﬁm%/ﬁ?
(1) 5179 T Seraier 4 et @51 Soft 20203
1307 W79 B1v 20229 13281 TE B
(2) "9 a1 <gerepicn ¥ e @ Soh 2020 4
1309 2022 % 132 9% fiR ¢ ¥ |
%mﬁewwm_@wwm

Code - A
(@) only 1 (b) Both 1 and 2 (@) Paer 1 (b) ST 1 Tg 2
(©) Only 2 (d) Neither 1 nor 2 () Pae 2 dFar -7 2
17/ Who among the following is the first women  17. BT B Gorm Afeen ey e & DI T2
S;:]Jeaker in Lok Sabha? " (3} #R7 HHR (b) Ifferr Rig
(@) Meira Kumar Urmila Singh
(©) Pratibha Patil (d) Sushma Swaraj (©) FITT ey D) GEHT 3RS
8. Which of the following statements is not true  18. Ffefad st 4 o a9 W4T & A9 & By
regarding ‘Gram Sabha’? ' A g8 87
(@) It has the powers and functions at the village (@) 39 &1 air TIfeai a7 YR R 9 ypR
level, like state Legislature has at the state 8 S VISY el D T WR T B
. level. g :
(D) Its powers are determined by the Centra] (b) T SIfagy BT fAEivoy G INPN &
Government. §INT BraT & | |
©) It is a Village Assembly consisting of aj| O T UM YR A W ¥ e U9 P
registered voters in the area of Panchayat. 87 B T 9SG AAGTAT FRARGT 25 gl
(d) (a) and (c) both (d) (a) T2 (c) g1
19- World Social Protection Report is published by - 19. fyeg WIS HReT0T RUie geopforg DT S & —
(@) World Bank (b) International Labour (a) fawq §o GINT ' B SR s
Organization TS SN
(¢) World Economics  (d) worlg Health ©) fae7 e e gy (@) 997 ey wiras
Forum Organization ST
20. The “NISAR satellite” is jointly developed by 20. PR Sg- Friferag q 9 ey B
which of the following organizations? HIHT BT W B figy T B?
(@) ISRO.and NASA  (b) ESA and NASA @ T Ak " () EAG RS e
(€) ESA and ISRO (4) ROSCOSMOS and () gy DAREH G
CNSA ; S TATHT e
- All elections to the Panchayats are conducted  21. yepgy o ST 7191 BT ey PRAT & —
by - ' '
(8) State Election (b) State Legislature AR ety ! ST (b) Vv AR ep7
Commission () IR oy et (d) ey RIS 7Riy
(¢) Election Commission (d) Panchayati Raj ST |
of India Commission
D-1-23] 153101 Page 4 of 32
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22. Example of Lotic Etﬂsvsmm

27,

29,

IS -

(a) Ponds ) § 22. ?T%Eﬁ
iv a) drcild A
(¢) Marshy area d g (©) TS & (Hrﬂﬁ (d)
ich of th | Swamp, oRa) o 8, R
23. Which o t. e fDllDwing s mRN S il mRNA 87
against Covid-19 infees: A accine ysed 29 RiSISIECE ; fae= ofTel!
g €Ction? s RIfre-19 HEHYT
(a) Sinovac b) (b) ATSRTI
- MUdErna (a) fyATd®
(¢) Sputnik d (d) AT
NDUauax {F}W RSED J oot
24. Which among the fq - wedR @ [Pd
| OWINg ruler of oo 240 FEfaRad # 5
abolished Zaziya ang Cow SiaUEhtEr: ashmi s i e 1 AT fopar: s hid
(@) Zain-ul-Abidin (0) Sikard.. T (b) RgPax
! L 'Kandar Shah (/HLG?";],T’T (d) 2R IE
(¢) Shamsuddin Shah (d) Ha: IS
Haider Shah (c) TrRgeIT oy 2 TS B
25. Which of the fnllnwmg Scorpene Class 25 freforfRaa H REDS] TG 2
: : . ] - arrfarer T AT
I gvs (b) SMRUATE.
(@) INS tarahl () INS Kalvari @/i—gm:: arfr  (d) SME.TA.GH. deTl
(€) INS Vagir () INS Vela (c) 3Mm=.T.T¥. | s
26. Consider the following deserts and arrange them 26 famforRaa AR TR 1'3?3”? BINTY =
In increasing order of their size (from smafest to ST AHR B ded HH A HARAT DIV
I'argest) = 'E!'}]é' @I _\qa.-\q- ﬁ—\ﬁﬁ T‘Fﬁ) =
(I) Great Sandy desert (1) e Ao AT - @::
(Il) Arabian desert (11) aRf o ~®
(I1) Sahara desert (1) TRt T —) —
(IV) Gobi desert et e D
Select the correct answer using the code given |
% | HEl IR gAu —
below - ' HLE RN T . :
@ 1 IV, 1L I () 11, 1 11l IV (@)1, v, 1, 1l (B) 1, 1, 11, |
© I, 1, IV, I @) 111 IV, 1I ©) 1,1, v, i @Lt, 1, v, 1
Seaweeds are important source of - 27. st dare s wewaqel W 87
(a) Argon (b) lodine (@) s B (b) A P
=2 (d) Bromine (©) Foe & (-5 B
(¢) Chlorine | B <
2. When did the Water (Prevention and Control of  28. &1 Ryporm g LECRIRCER) e
Pollution) Act was enacted in which of the F=fofeg 3 ¥ g o g=mr T
fDlIDwing vear? : (a) 19?4-# M?Eﬁ
(¢) 1975 - (d) 1977 7G—EH
ic diversity is maintained  29. 3Ry SeErRY ¥ argaiR fAfE T
In National Parks, Genetic diversity IS maintained i | ;
ST ® — e
s ' ation (a) - Fveror g1 (0 mﬂm A1 Tl
(@) In-situ’conservation (_t‘) Ex:SIBUICORSETY (@) 53T () Sofed ¥ i
(©) Gene pool (d) None of the above (©) i qo1 g1 //ml,mm—,—i
Page 5 of 32 mmmﬂl
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Which of the following (Scheme - Year) is not
30. I

d?
. ECﬂ'f matl:he
:;r;ural Housing Interest Subsidy Scheme - 2017

- (b) Sansad Adarsh Gram Yojana - 2014
(c) Shyama Prasad Mukherji Rurban Mission -
2015
(d) Deen Dayal Upadhyay Gramin Kaushalya
Yojana - 2014
31. Among the following, which country has declared
to remove the British Monarchy from its Central
Bank Currency Notes on 2 February, 2023?
(a) Nepal (b) Canada
(¢) Australia (d) Sri Lanka
32. With reference to the “EL-NINO”, which of the
following statement/s is/are correct?
(1) El = Nino involves dppearance of warm
current of the coast of Pery in eastern pacific.
(2) This warm current increase the temperature
of water on the Peruvian coast by 10°C there
by increasing the amount of Plankton in the

sea. :
Select the correct answer using the code given
below — |
Code -
(@) Only 2 _(b) Both 1 and 2
(©) Only 1 (d) Neither 1 nor 2

33.

In 1918, the United Provinces Kisan Sabha was

formed by which of the following leaders?

(@) Pt. Jawaharlal Nehru (b) Baba Ramchandra

(©) Swami Sahjanand  (d) Indra Narayan
Saraswati Dwivedi

34. Which among the following organisations was

responsible for throwing a bomb at Viceroy Lord
Hardinge in Delhi?

(@) United Patriotic

B) All India Labour
Association '

Association
(d) Anushilan Samiti

35, :
Plane of Which Airline Crashed in Nepal in

Yanuary, 20233
(@) yet; Airline

©) Nepal Airline

\D-123) 153107
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30.

31.

32.

33.

34.

35.

Fefofea 4 9 o v @omr - a9) @@
Gfera =18 &2

(@) Bt ETSRiT sevwe wfad Wi — 2017
ib}mﬁ?aenaﬁfumu‘rmm—zom '
{cjmmwﬁﬁaﬁqﬁmﬁ-zms
{%mwmﬁmm~

2014 TR

2 BYaN), 2023 ﬁr,ﬁ?%ﬁgaﬁﬁ%va‘wé
W%%maﬁaﬂ%ﬁﬁﬁww

Pl BSH & Ho )

(a) wgre (bt

() siregferar (d) =fretepr

AT & Hed N PrefRed ot q 9

D AT/ R R

(1) ST 5 gdf gorid &3 & 9% 3 ge w
TH GRS BT gbe B e 2

(2}agnﬁam%$aawwzﬁwwaﬁ
10°C 9% o1 <l 8, orad wgg 3 e
DI AT 93 W £

%ﬁqw?@ﬁwwgﬁn—
ﬁa'._

() Baer 2 BT 1 75 2
(¢) Daat 1 @aFdar1&2

(@) 9. STATER o1t e (b) AT T N

%
(©) T HEwT< (@) 3% TREY 298 3
TR o |

rfRed & & S dreT Reeht § amai

oIS BT W 9% Do & fiyu saverd) o

(a)gﬂﬁégﬂ'w&ﬂ? (b) 3Rt HRAT FoTgR
petal Y

Sy ST {d]éﬁ?ﬂmﬂﬁﬁ

SR, 2023 ¥ 6% TERETE BT AR Surer ¥

GHETI garr? :
(8) AT gaReTET (XEITRT TeveTe
(©V/ Tt TaRenss . (d UIRelTg

(T e e



A\

Afed BT GREPR, 2022 TG B A1y

36. Who is the Author of the famous Novel “All the °° &
Lives We Never Lived”, which received the g ST “affer g arged 91 AR feres 5
Sahitya Akademi Award, 20227 JAEH P BP :
(a) Shobha De (b) Anuradha Roy (a) T S (b) SFREIT XY
() Anita Desai (@) Sudha Murthy . ©@ofm e @A
37. Which statement is true for Finance Sector (Fiscal 37. Big doie—2023 ¥ A< ﬂgg?‘j ek
Management) in the Union Budget-20237 gaer) @ g P 41 9 5 ;
(@) Budget * estimates  2023-24 for total (a) 2023-24 & goic AFAT A B A 55 g
expenditure is ¥ 55 lakh Cr. : FRrs o9 T |
(b) Fiscal Deficit 2025-26, the target is to be WDH"ZGH}’ Ty RIS Eﬁ\g o
below 5.5%. ' @ DI e | |
() Fiscal Deficit of 3.5% of GSDP allowed for (©) STHLLH. P 3.5% XSO IS Y <ol
states. Y SIART |
(d) Twenty years interest free loans to states. (d) 37t Br 41 9y % forq =TSl Jd 07|
3. Which of the following (Union Budget %6 famfoiRad # ¥ PIT U (P=IF Ioe oy
Departments 2023-24 - Allocation amount 2023-24 — AT AT I X ) T Fafora
approx. < ) is correctly matched? | 27 ) '
(3) Dept. of Health Research— % 9,155 Crore (3) TRy W f9RT — 9,155 BRIS
(b) Ministry of Health =% 89,155 Crore (b) ¥Ry FATGTT — 89,155 BRIS T
(c) CD:Opri; of Health and Family Welfare — Z 80,000 () W T gRaR FHoUT FATTT — 80,000
(d) Pradhan Mantri Jan Arogya Yojana ~ Z 5,000 : ‘%
Crore (d) gem=HAT o9 IR AT — S,Uﬂﬂm <
39. With reference of the election of the Vice - 39 9RrRg & SWRISCUf 61 Fa=E, R wdf=
:resident (?f r:tdiag 'rwzi-ch ishQE;ia;efhuu;dIIby 'fhe IR §RT 9= NG vy TS B gt 3.
u . | |
Str.u‘wme ourt of India, which of the following Bt 3 & B w1 /9 Y
atement/s is/are correct? : Zak
(1) The acts done by him as Vice — President (1) SIRIEUIT & %Wy A Y UPBR B YT | qﬁ
before such declaration are considered valid. SHS g7 fbu TV prRIfARy ary B
» . ¥ " - —
G e e el T S o i o
valid. % _Eﬁﬁ_; 8T BT Ty wrifafy AT e
Select the correct answer from the code given A |
below - %W@%WWWWW__
Code - e =
(@) Neither 1 nor 2 (b) Only 1 (@) 5 qr 197 & 2 (b) e 1
(€) Only 2 (d) Both 1 and 2 (¢) paa 2 (@) =% 1 e 5
40 Which one of the following (Place of the revolt of  40. ; '
e L Wﬁﬁﬁﬁﬁ?%ﬁsswﬁﬁrﬁgw
857 Start of rebellion) is not correctly : NRITH
matched? . e fasTe 1 amew) TAfera =8 ¥
(a) Lucknow — 4 June, (b) Barrack — 29 March, W — 45 b .
1857 1857 } m ~ 29 A&,
©) Jhansi-11 May,  (d) Meerut— 10 May, 1857 1857 :
1857 1857 C) T —
) 1198, 1857 (d) 3vg 10 |
B s, 1857
-1-23] 153101 Page 7 of 32 e




*I. With reference to the Pope Benedict XVI, who

died recently, which of the following statement/s

is/are correct?
1. He was a native of Germany.

2. He was the first Pope to resign in 600 years.

Select the correct answer using the code given

below —
Code -

(@) Only 2 (b) Neither 1 nor 2

(¢) Only 1 (d) Both 1 and 2 =

N
2. Tappa style of music was refined and deveiopeg:

in which of the following Mughal Em;:nc:nt::r’gflJ
Court? ‘

(b) Akbar

(d) Muhammad Shah

(@) Jahangir
(¢) Shahjahan

4. The Xylem in plants s responsible fﬂg%
transporting - 5255
(@) Oxygen (b) Amino Acigd A
() Water (d) Foog

4. Which of the following statement is true?
(@) Tide comes on the earth every day aftein
€xactly 12 hours 30 minutes.

(b) Benguela.current s a cold current of th

Pacific Ocean,
) o

'1_——-

[
o
"F
Trn
eN

Cancer and Capricorn.

the : .
Sun, the €arth angd the moon are in §
o ' “
then this Situation js the situatiuﬁ;
: A

(d)

If
Stfaight line

41. q}qaﬁﬁﬁw’ﬁﬂwgﬁﬁ#ﬁmi
® Wt ¥ P w4 § B @
el 7 /&7

198 T & o7 frare o

2.98 600 8T ¥ gediwT o a9y ve 99 o
:ﬁﬁﬁﬁﬁaﬁﬁﬂﬁﬁ?ﬁ—

7e -
(@) Paer 2
(€) Baer 1

42,

43. uﬁa‘fﬁmwﬁaﬁzﬁmmﬁnaﬁm%—

44,

(d)aﬁ-gé,gaﬁwaww%#ﬁﬁ?%
ﬁqfsfagwﬁﬁafﬁ%f
45. 2022#ﬁwaﬁsﬁj_mﬁg¥$emﬂ=r#w
¥ o v o2
(8Y104f
(€) 1197

(b) o1
(d) 1297

m ﬂ"ﬂﬂmﬂlﬂﬂlﬂlﬂnm [



47.

48.

49.

90,

Match list-l with list-| and select the correct 46 'ﬁ._‘ﬁ" Cal qﬁﬁ‘”

answer using code given below -
List - |

List - Il

(Diseases) (Factors)
(A) Peptic ulcers (1) Virus %
(B) Dengue gl (2) Protozoa ?
(C) Elephant Foot (3) Worm Al
(D) Malaria 4) Bacteria B
Code -
(@) A-(2), B-(3), C-(4), D-(2)
(b) A-(4), B-(1), C-(3), D-(2)
(©) A-(4), B-(2), C-(3), D-(1) S
(©) A-(3), B-(4), C-(2), D-(1) o
Which officer was known as ‘Bhagadugha’ during NI4T
Vedic administration? 5
(@) Revenue Collector (b) Messenger
(¢) Chief Officer of (d) Chief Officer of the

Forests Gambling

Department &

Which among the following is a constituent of - 48.
natural silk? &
(@) Phosphorus (b) Nitrogen g
(€) Magnesium (d) Potassium
Which of the following events was the last in 49
chronological order? o8
(@) Jallianwala Bagh  (b) Moplah Revolt &

Massacre :
(€) Khilafat Movement (d) Home Rule b

Movement

With reference to mineral resources, which of 50.

the following statement/s is/are correct?

1. Lithium’s inferred resources have been found |
in Reasi district of Jammu & Kashrhir.

| gafera R o 9 /)

T B B YART PP GE SR P
PITT — 2
o - | T -1
(cafe) (PTH)
(A) afees gor (1) faror
(B)ST (2) wreTSiren
(C) ®iaT gid (3) B
(D) HIRAT (4) fargmoy
RC — - '

(a) A-(2), B-(3), C-(4), D-(1
(b) A-(4), B-(1), C-(3), D-(2)
(c) A-(4), B-(2), C-(3), D-(1)
(AL A-(3), B-(4), C-(2), D-(1)
e Brelie TG H HNIGE DI SIfRIBRY oar?

(8) ISR DY AT D (b) FATAR YA dreT
arer qd '

(¢) STl T UeIT (d) ST fA™TT BT e

F=faRaa § 9 wefas M &1 v uch

(@) BIEpRE il I F v e

() FF=iferH (d) grefRrm

BIAPH B e ¥ Frefafed geaet § 9
BT ifer off? a
(8) siferafare ST ~  (b) Hiuer figre

a1?

,ﬁi&
~ (d) B wat NS —

VAT

@ﬁmwzﬁmﬁﬁ,ﬁﬁrﬁﬁﬁiﬁm’iﬁ%
I | /q TEY 2 /22

1 SF-5RR & R R § ditrm 9

2. India is import dependent for many minerals TIAIT HIST HUSR ey &
like Lithium, Nickel and Cobalt. 2 ITD @S T ohfrm, frerer qon
iElIECt the correct answer using the code given Pl B 1Y amara v fpfk 2
oW = 9 3 T we

Code - iC ¥ Wl SR gty —

(@) only 2 (b) Only 1 K

(€) Both 1 and 2 (d) Neither 1 nor 2 :a) o zaﬂ‘\! (b) Beer 1
i ¢ 1 2 d .
[D-1-23] 153101 I (@ 7 v 197 &
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@f ources should be used by the present 51 A1 foren AR} B oA 4Ié! §RT 39 U
51. Natural res

tion in such a way that if there is minimum
genera

SURT fabar = : \ :
degradation of natural resources, then what kind i HI@SIEiEﬁ PT =1
eg

of development would it be called? T &), ar g 5T UBR BT Rem HERN
‘ (b) Sustainable -
(a) Organic (a)
Development Development G“'ﬁnﬁ Fa?ﬁﬂ? (W fasrg
(¢) Social Development (d) Economic ‘(91(% Rrprg (d) e £

Development

2. The resignation letter by a Judge of Supreme  92. Ygfeg AT
Court is addressed to - :

f (b) Th | e
(@) The Chief Justice o The President a
India 2 e ﬁ: @/W P
(¢) The senior most (@) The Prime Minister (e - :
Judge of Supreme ) Wiy e % (9 HETTHAT
Court : aﬁﬁaﬂq RIRICIN D :
3. Which of the following is not correctly matched?  53. FrefoReg + w DI T Tt AT wTEF 27
@ Gulbadan Begum — Daughter of Babyr @ AfdqeT qmy — qTaR B gy
(0 litutmish — Father of Razia (b) geqarsT — ST 3 frgy
(©) Hamida Bany Begum — Wife of Allaudin Khilji (©) &HIeT 917 977w — STCTSEN Raeroht o6 Ul
' (@) Shah Turkan - wife of lltutmish (d) 21 g — FeYAMTT B g
4. Which of the follo

wing Provision is a part of both  54. FefafaT o < DI YTae fy Mo

- - & - " ! r____"—\-h‘-'-‘—-—..k
Directive Pnncr!:ﬂes of State Policy and a7 e G} 2=y BT T T 27
Fundamental Duties? '

(@) Participation of workers in management of @) SEl & ey 3 PHERT BT U 7

Industries |
(b) Protection of environment

(©) Guardians to  provide -opportunity for (©) sifTaes get oy R & aravwy feerarg

education to children : - Ad) e ANTRS wfear
9) Uniform Civil Code

55. H‘Eﬁamzoza-24ﬁum=rraﬁ$aamam=f
$Wﬁ,ﬁwmﬂ‘fﬁﬁm‘hm/ﬁw
WEl & /87 Xor
(1) fBa a¥ & qorm & R 2 emeeT A

Haiftre uftera eerdt aof @ w2y 2
2y Tee a¥ @ gorr § 5o S fee &g
9T ¥ waifte gfew gy oo @
8|




T e e = -z

A\

56. Match list-l with list-ll and select the correct

answer using code given below the lists —
List - |
(Theories of Population)

(A) Optimum Population Theory

(B) Social Mal-adjustment Theory

(C) Demographic Transition Theory

(D) Population-Food Supply Relationship Theory
List- 1l
(Propounders of Theories)

(1) Thompson

(2) Malthus

(3) Edwin Kennan

(4) Henry George

Code -

(a) A-(1), B-(2), C-(3), D-(4)

(b) A-(3), B-(4), C-(1), D-(2)

(c) A-(2), B-(3), C-(4), D-(1)

(d) A-(4), B-(3), C-(1), D-(2)

5. ¥ @

-l R gafer #ITY eIk A1 fig
TC HE FT YA B §Y Fel S I —

3-}3 =

(a) A-(1), B-(2), C-(3), D-(4)
(b) A-(3), B-(4), C-(1), D-(2)
(c) A-(2), B-(3), C-(4), D-(1)
(d) A-(4), B-(3), C-(1), D-(2)

57. Which one of the following (Tributary — River)is 7 Frefafag 3 @ P19 91 (@ERd Tl — 7<) ¥l
not correctly matched? hferd =Tel &7 .
Ea]] Manjra — Godavari izi Hemavathi — Kaveri (@) HORT — TTCTa (b) ZHTGAT — BTN
¢) Pranhita— Malaprabha — e 2
Mahanadi Krishna Sl ) cRil :
58. Consider the following statements with 58. SeR TNl @ W A Frefaied doFi W faER
reference to Uttar Pradesh — HifoT — E
(1) Forests constitute about 12.8% of the total (1) I B FHA AMRTE & BT THT 12.8%
geographical area of the state. e P
(2) The districts of Jaunpur, Ghazipur and Ballia 2) G'Tﬁ? Trﬁﬁg‘\' S aRr Rt ¥ @ T
‘have no forest land. | ﬁ\ﬁ'{ 5 %T Wl .
Select the correct answer from the code given 1 fog O T S gﬁm <
below —
Code - b/ : |
(a) Neither 1 nor 2 (b) Both 1 and 2 @aar1m&2 . (b)SHi1Yd2
(c) Only 2 (d) Only 1 (c) ®ael 2 (d) Badt 1
59. Which of the following statements is correct 59. fyerferad ot § ¥ oevge A @ Ry |
about laterite soil? | P T HAT el 87 '
(1) This soil is developed in areas with high (1) T& ) Soa qTaEE Ud AT 99t A & |
temperature and heavy rainfall. ferfRia Bl 2 |
(2) It is poor in iron oxide and aluminium. 2y za fd 3 diE ifeTEs Td TeiTEd o
Select the correct answer using the code given B s 3 s L
below — 2 w77 Fe | ¥Rl SR gAY —
Code - 6 —
(@) Only 2 (b) Neither 1 nor 2 (@) Padt 2 (b) 7 A 171 & 2
(c) Both 1 and 2 " (d) Only 1 (c) QY 1 = 2 (W 1
[D-1-23] 153101 Page 11 of 32
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@ 604 Charak samhita is divided into how Many = €0. ‘=R wifear f5eY ooy iR wet
J chapters and sections?
- (a) 80 chapters and (b) 60 chapters and (@) gg IR 3R 7 vt
/7 sections 8 sections |
(¢) 120 chapters and (d) 100 chapters and () 12 3 8 s (d) 100 R 5 we
8 sections : 5 sections W
1. According to Economic Survey 2023 about 61.

AN 3 g7 H 3iffes et '
- 2023 ¥, FrforRey
services, which statement among the following js b

not correct?

Wl TE 2
(@) Fashion grocery and general merchandise (a) RIS 3R BELGE| ’:ETE’EW 2
| : 0
.' will be captured nearly two-third of the Indian MIEGIE| §—pres IR & g a‘racil?fgg
_;.' €-Commerce market by 2030, _ fewg H SAUAT R+ Tm‘ﬁfﬁl
I (®) 75 digital banking units announced for b) 75 fefres dfeer TPISTT o) farsYey
f transforming financia| services, QT3 oy 95 P P TS
L (¢) Credit 8rowth to servjces js above 169 Since (c) 2022 ¥ pfee ;
W 50 . %Wj 0T R 16 6 HR
(@) P.M.I services withessed strongest expansion (d) 417731 AT} % RS
3TTE. 2022 Serrs LG
since July, 2022. TR ey T |
B Giver below are two statements, pne | labelled  62. Y 8 o g frad o UP DI oy (A) ‘
as Assertion (A) and other as Reason (R) - 3k T Y , ;
Assertion (A) - Population control is Necessaryto R) et mar =
- maintain the environment of the SRDT (A) - 2o7 AR Y gy B
country. TOTR SR Frefor ayrrasres 2
Reason (R) - Due to the rapig increase in : : : - ;
Population, the €nvironmenta| (R_) : A f Ejﬁ%’ ®
balance js maintained., Hge™ 997 v g
Select the correct answer using the code given T Ry ™ e & el Sov gy —
below — J
Code -

. ae —
(3) Both (A) ang (R) are true byt (R) is not correct (mﬁ‘\’ (R) <1
explanation of (A)

W & g (R), (A) B} %y

Il
() (A) is false byt (R) is trye (0).(A) Torg 2 ﬂ,.—,ﬂ- (R) ey &
© Both (A) ang (R) are true ang (R) is correct © (A) 8k (R) T <y & 3R (R), (A) & w3
®xplanation of (A) | SRR Ty 2
63, i:}.tr‘)  true but (R)is fajge (@ (A) ¥ & frg (R) o7y &
th'e f;ﬁ::?"ce to the Deakin University, which of  63. SIfh favafiemery @ wd § AERiRe R
It W"Lb::g :! if;:int/% 's/are correct? TH B W g /87
i Ore ' ; s :
2, tm: ©* 3N indepep, er:fg :a:lnn;::rs,ty Eal 1. %8 V% Yoy uRew & Anam o URT A g9
Selegy 4 "8 S€t Up i :

(b) Paer 2
@ Fdr 197 & 5

T T T e




PCS. )

)

=y Which one of the following pairs (Schedule -

B5.

66.

67.

68.

B69.

?U.

Subjects) is not correctly matched?

(a) Third Schedule - Forms of Oaths or
Affirmations

(b) Ninth Schedule - Allocation of seats in the
Council of States

(c) Eight Schedule - Languages
(d) Tenth Schedule - Provisions as to
disqualification on ground of defection

In which year, “Mid-day Meal Scheme” was
renamed as “P.M. Poshan Scheme”?

(a) 2019 (b) 2020

(c} 2018 (d) 2021

Which of the following is not a biodegradable
polluter?

(a) Faecal matter (b) Urine

() Domestic waste (d) Pesticide

By which of the following Acts, the system of
‘Chamber of Princes’ with 120 members was

created?
(@) Act of 1919 (b) Charter Act of 1853
(c) Act of 1909 (d) Act of 1793

‘To whom does the credit goes for the
development of coconut and sugarcane

agriculture in Philippines?

(a) Spanish and (b) Hollanders
Americans
(¢) Britishers (d) French

Who among the following women freedom
fighter was not associated with ‘Quit India
Movement'?

() Matangini Hazra - (b) Kanak Lata Barua
(¢) Shanti Ghosh (d) Aruna Asaf Ali

Which of the following (Port-Country) is not
correctly matched?

64 ey gt 4 & e g (dfdETd P I

— fawa) wé gafera w81 87
qa}??mﬁsiaﬂﬁl—mamuﬁ‘rﬁﬁfﬁm
¥ Sl — e 3 <ot @ S
(c) aradl Y — AN
(d) el g — T uRads & MR W
fAreal

65. 'HedTE AT AT Pl “ULTH, UINor AT

forg o yemifaa fear 7ar?

(a) 2019 # (52020 #
(c) 2018 # (d) 20214

66. faymifaifad # 31 HI W1 ARNMSASIA TGS el

27
(@) 7l ggrel (b) 7= @
(c) TR STfire (RN |
67. ffarfad % & forw i gR 120
qrel ‘TR 3 ST @ aawRy & g oA17
(@) 1919 &1 3feigs  (b) 1853 T AR Tae

(©) 1909 1 afaf A (d) 1793 B1 iR
08. fhellug 4 AIRT v 7= B BN [ w
9 Pl o 82
(a) W+ ug (b) EfetvgarRe) o
CEIRGIE | IRk e
(S} facTamay @y (d) wigaRmy o
69. ﬁw%@aﬁﬁﬁﬁq%mwmm'ﬂm

BIST 3faTer’ 3 wafrg =& 27
Y AR &ToRT (b) S T T
() wrifey =y (d) 3=/0T 3% arety

L ﬁmﬁmﬁﬁtﬁﬁﬁw@ﬁm@ﬁﬂ)ﬁé’r@ﬁa
el &7
AR — swry (b) Rfeven — Hexeive
(©) gt — A= (@) St — SRR

EE

(@) Montevideo— . (b) Rotterdam —
Uruguay Netherland

(¢) Igarka - China (d) Jakarta - Indonesia

23] 153101
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71. With reference to the SCO Film F-estival‘-z_ﬂza,

which of the following statement/s is/are

correct?
1. The SCO Film Festival is being held during
India’s  Presidency of the Shanghai

Cooperation Organisation.

2. SCO Film Festival will showcase the films from
the SCO countries.

Select the correct answer using the code given

below -

Code -

(@) Neither 1 nor 2 (b) Only 1
(€) Both 1 and 2 (d) Only 2

2. Which one of the following (Lake = Country) is not
| correctly matched?

(@) Onega - Canada
(€) Maracaibo—
Venezuela

(b) Baikal - Russia
(d) Michigan — United
State of America
73. Who has written the book “From Dependence to
Self Reliance”?

(@) Y. Venugopal Reddy (b) Raghuram Rajan

(¢) Bimal Jalan

74. Consider the following “statements concerning

the powers of the Supreme Court to issye certain
Writs to stop violation of Fundamental Rights —

(1) The Supreme Court has power to issue writs

like Habeas Corpus, ‘Mandamus, Prohibition,

Quo Warranto and Certiorari which

appropriate  for the enforcement
Fundamental Rights.

(2) Parliament may by law empower any other
court to exercise within jts jurisdiction the
Powers given to Supreme Court.

Which of the above

statement/statements is/are correct?

ielect the correct answer from the code given
elow -

Code -
@ onlyp

(©) Neither 1 nor 2
Which on
total gy

(d) C. Rangrajan

is
of

mentioned

(®) only 1
(d) Both 1 and 2
€ of the followine : '

3Yin the Unjon
Intereg

(20%)

).

Budget 2023-24>
(b) State share of taxes
and dutjes (18%)
Subsidies (9%)

t payment

(d)

| R e e

7. vadiel. e wEtcEa—2023 & WS H,

'ﬁfﬁ%rﬁgﬁ?ﬁaﬁ‘iﬁﬁaﬂ:rm/ﬁﬂﬁ%/%?

1. ¥TET, WEANT oA @) WRT #) angear o
NI NET B vt

}mW.i'ﬂ.Gﬂ', e w=cTe & v diian Su Gl
e foxars s

T A T B P gaw

T PTG —

R =

@ T ar 197 & 2 (b) Haer 1

(FTHT 1 ug 2 (d) Paer 2

ﬁq%ff@aﬁﬁaﬁw(gﬁa

el 87

(@) ST — PaTET (

PP HEl IR P

72.

/3.

74.

hY

(2)xae ﬁmé%wwwm%
S RS Bl U anfeRE wrdy
?ﬁﬁmﬁ$%ﬁm-a‘ﬂmwaﬁaﬁn‘s‘3ﬁ
AfITIT BT IRIT BN et 2 |

SURIGT BT 3 BT /9 IR 98 & /87

T Ry T oge ¥ ¥ wd oW @1 we

BIfTY —

ﬁc\E—
(@) Haet 2 (b) erer 1
@Faim&2 (@) 18R 2R

- DI I9IC 2023-24 ¥ g1 IR ¥ RefR
H A B G BT W A 27 -

(2) @77 YT (20%) (b) HRY U bl § Iy

() veTr =ry (8%)




PCS

76. Who among the following has been named asthe  76- frefeRaa # ¥ 5y o, 2023 3§ YolldvsS &
Prime Minister of New Zealand in January, 20237? QETTHAT P B9 § AT 7T &7
(@) Jacinda Ardern (b) Cindy Kiro (a) SISt are+ W Gl .
(¢) Carmel Sepuloni  (d) Chris Hipkins (c) Hrfe AYArFD (d) b feafms _
77. The aquatic plant commonly used as bio fertilizer 77- STeitd drem o AT oief Wﬁ'ﬁ o @ ?ﬁ il
in the water-logged rice field is - gﬁl—%’ﬁ'\’fﬁ @ HU H FAT # AT Al B, 98
(@) Wolfia (b) Trapa (a) AfewaT (b) o
(c) Azolla (d) Lemna (S TS (d) =T
78. Which of the following is/are the type/s of 78 fA=fIRad ® & ®I=v /A fAe=ar &1 /% UdR
poverty? 4
(1) Absolute poverty (1) Tﬁ (=m) fAefsar
(2) Relative poverty (2) amer fefaar -~
(3) Subjective poverty (3) R T o
(4) Functional poverty : : (4) Tt R
EZ;:{;:e_the correct answer using the code given &N ae 3 T TR A gﬁ‘({ &‘
() Only 3 and 4 (b) Only 1,2 and 3 (8) BaeT 3 T4 4 Praad 1,2 1@ 3
(¢) Only 1 and 2 (d) Only 1 and 4 (©) BaeT 1 AR 2 (d) ®aer 1 TG 4
79 Which of the following elements is not a Noble 79 Fr=ifeiRad % & B9 |1 T Ager A4 & e?
gas? (a) T OREac S
(a) Radon (b) Krypton o (d) ofrefrag :
(¢) Argon (d) Actinium | |
80 Which of the following hormones is secreted by . 80. fr=ifaiRaa & § ®\ar eMA aFAwg & SREH
the Beta cell of Islet of Langerhans of Pancreas? gmm_ﬁ'_?? @1 dIeT 9 (IRRrHRT) gRT Efid
(a) Aldosterone (b) Adrenalin @ %.E o o
(©) Insulin (d) Glucagan ©) < () ngm
81. Which Indian origin businessman has been 8. RS 7w @ fbw waER B oY P o
elected as Mayor of London Borough of ! |
Southwark for the second time? N Eﬂ R T‘qﬂ R T T 27
(@) Gautam Adani (b) Sam Dalton (@) 7w srer (b) V7 TreeT
(¢) Sunil Chopra (d) Neeraj Patil (©) Friter =S (RS Tifew
82. Consider the reign of following Peshwas and 82. foiforRag RIS & IR BTel TR RR Fifru
arrange them in chronological order ~ AT S BIHEHATTAR TR BT —
(I) Balaji Viswanath (1) STy fRrgaerer /" '
(1) Bajirao | (1) ATH | -
(1) Narayan Rao
(IV) Madhav Rao | (1) TRTIOT <17
Select the correct answer using the code given (IV) A X719 | '
below — | %WW@QWWW—
Code - oe —
@11, 1, 1v, 1 () 1, 11, 1v, 1l @1, 1,1v, 11 ®) 1,11, v, 1
() 1, 1 1, 1V (d) 1, 11, 11, 1V RONRTRINE _@,1;_“: iy
[D‘l-23] 153101 : Pagg 15 0f 32
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PCS 83. Which of the following (Poetess — Compositions)
. is not ccrrectly matched?

(a) Sahajobai—Sahaj  (b) Son Kumari — Poem

Prakash of Swarn Beli
(c) Dayz Bai —Vinay  (d) Gangabai— Ganesh
Dev Leela

Mliga

84. conside! the following statements about
sustainable development —

(1) Basetl on the global indicator framework and
data produced by National Statistical
Systems and information collected at
regional level, the United Nations Secretary
Gerieral presents an Annual Sustainable
Dexelopment Goal Report.

(2) Glgal Sustainable Development Report is
produced to inform the quadrennial
sustdinable  development goal review
deliberations at the U.N. General Assembly
once 2very quarter, :

Select the correct answer using the code given

below —

Code -

(@) OnfR2 (b) Neither 1 nor 2

(c) Both'1 and 2

(d) Only 1
85. With reipprence to the invaders in ancient India,

which vone of the following is the correct
chronological order?

(@) Sakas— Greeks — Kushans
(b) Greeks — Sakas — Kushans .
. (©) Saka; - Kushans — Greeks

(d) Gr%:s = Kushans — Sakas

(&1 . ;
Matchelist-| with list-Il and choose the correct

answegsing the code given below the ists —
List=)

e

86.

List - 11
( Aﬁ:‘hileﬂhgical site)  (Present location)
(B) ;;:::r (1) Rajasthan
(€) Didwan, (2) Tamil Nady
10) Sudivam caye (3) Maharashtr,
Code - (4) Karnataks

- 86.

84.

(I}MWWWW@HM
AT gRT
REARG S, TS

b) 7 ar 151 & 2
(=l 119 2 (d) saer 1

UEH FId 3 9Rg gy SHAY & Gy ¥
ﬁ%ﬁﬁﬁmw%m?ﬁ
(@) 31 — T — oy
(b)qa1=ﬁ~w—€gqm
{c)w-agarm—qwﬁ

G g — gumor — 3

85.




gl — e o g v
.

87. Which of the following is known as “World 87.
Wetlands Day”?
(a) 1 February (b) 2 February
(¢) 10 January (d) 15 January 00
€288,

88. Which of the following Scheme/Programme is ¢\
not the Central Government Programme and it is

Uttar Pradesh Government’s Programme? ‘::‘!
(a) Ganga Expressway (b) MGNREGA
(¢) Pt. Nehru Utkarsh  (d) Gramin Swasthya
Mission | Mission
89. Human heart is made up of how many chambers? 89
(a) Only three (b) Only two
() Only one (d) Only four

90. Which one of the following (Passes - States/U.T.) DQD
is correctly matched?
(@) Mana — Himachal

12112

(b) Aghil = Arunachal

Pradesh Pradesh
(¢) Niti— Uttarakhand (d) Diphu - Ladakh
91. The Indian Biological Data Centre is being set up  91-
in which state?
(@) Punjab (b) Haryana %
(¢) Gujarat (d) Uttar Pradesh g

Fr=r ¥ QP19 @ “fava deAvSd feaw g o

F ST ST 87
(@) 1 HRaxy {w
(€) 10 SIHa<! (d) 15 ST

ﬁrﬁﬁfﬁﬂﬂﬁﬁaﬁﬂmwmw

&1 BRIEH T8 £ R I8 SR YeY WIR D

?ﬂTfFIT'%?

y}Fﬂ (b) FARAT
tri%ﬂﬁmﬁwé (d) 7oy wareed A

wgﬁﬂﬁmﬁﬂmﬁ( Tredl) P11 BT 87

(a) Baer A (o)-aet &

(c) Bdd Udh (d) ®adt TR

frefafad 3 & B 91 UB (@ — I/ BR
TRy o) W gaferd 87

(a) HT — fRHTae w2 (b) aiftred — SRl

) Hfy — STREE @ %, — e

TR Sfie Se1 Bu fHa Isa | e

ST R8T &7
(a) gofTd (b) =R
(©) TSI (d) STR W

G- Bl G-I W gAferd ST T gt &

92. Match list-l with list-Il and select the correct :_92-
answer using the code given below the lists~ € 7 A T FHe | A SR BT FIA DINY —
List - | -":Lir‘“
(Sustainable Development Gual) (o fawre we)
(A) SDG - 10 A) THELSL - 10
(B) SDG - 13 éﬂl TR SO - 13 -
(C) SDG - 14 S /() gasish. - 14
(D) SDG - 15 N /| (p)Taish. - 15
List - II o~ -1l
(Related With) T (evaf?re)
(1) Climate Action (1) Srerary Bwam L7
(2) Life on Land &?Z) ST X STdE /
(3) Reduced inequalities (3) IFHARIT H &HI /d//
(4) Life below water . (4) U & AT BT i :
Code - 6T —
(@) A-(2), B-(3), C-(1), D-(4) (a) A-(2), B-(3), C-(1), D-(4)
(b) A-(3), B-(1), C-(4), D-(2) (b)AC(3), B-(1), C-(4), D-(2)
(¢) A-(3), B-(2), C-(4), D-(1) () A-(3), B-(2), C-(4), D-(1)
(d) A-(1), B-(2), C-(3), D-(4) (d) A-(1), B-(2), C-(3), D-(4)
[D-1-23] 153101 Page 17 of 32
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96.

97. ;
The river situat

f the following cities of Uttar Pradesh is
93. Which o

- juded as the venue for 11 meetings of 200
ho: fn:'s Gf G-ED dﬂring India’s PreS|ﬁency of th‘E‘
ses5510

ing?
grouping
(a) Varanasi (B) Agra
(c) Kanpur (d) Greater Noida

94. which one of the following place is the
confluence of the river Alakhnanda and the
Bhagirathi?

(a) Dev Prayag
(¢) Rudra Prayag

(b) Karn Prayag
(d) Vishnu Prayag
95. Match list-1 with [ist-I| and select the correct
answer using the code given below the lists :
List- |
(A) Article — 324
(B) Article — 315
(C) Article — 280
(D) Article — 338
List - 1l
(1) National Commission for Schedule Castes
(2) Finance Commission
(3) Public Service Commission
(4) Election Commission
Code -

(3) A-(1), B-(3), C-(4), D-(2)
(b) A-(3), B-(2), c-(4), D-(1)
(€) A-(3), B-(2), c-(1), D-(4)
(d) A-(4), B-(3), C-(2), D-(1)

Make the pairs of chief rivers of their place of
origin —

Rivers Place of origin
(A) Yamuna (1) Sihawa
(B) Krishna (2) Nasik
(C) Godavari (3) Mahabaleshwar

(D) Mahanadi (4)-Yamunotri
@ A-(a), B-2), C-(3), D-(1)
(®) A-(a), B-(2), c-(1), D-(3)
© A1), B-(2), C-(3), D-(4)
D A-(a), B.(3) C-(2), D-(2)

ed alurig the border between the

nit
a}iTidES{!:s:ce f Merica and Mexico Is
Sl A;t;r;dn (b) The Mississippi
(d) The Rj
= - 10 Grande

93. WeR yRyr & PrefaRag Tt A ¥ P A IR,

94.

95.

96.

g7,

Page 18 of 35

HIRA &1 egerdl & SRE G-20 D zﬂuﬁﬁﬁ
11 9531 @ oy o @ w9 A i T8l 27

_{;/zrmmﬂ (b) TR
(©) PrgR (d) Trex AgsI

Fefafea @ frd @ W TadTRI U9
iRl T8 ey 22

(@) 37 yam (b) T AT

(¥ 5% wam (d) fasop g=ATT

R I R 9 i e dor et @
%%Wﬁaﬁsﬁmﬁqﬁq—

X~ |

(A) 3gzese — 324

(B) erg=eg — 315

(C) 3=ee — 280

(D) 3Tg=sq — 338 _
I = 1 w

(1) SR S Snfy s

(2) fa=y

(3) Sl 4T AT

(4) FFates

E}E i

(@) A-(1), B-(3), C-(4), D-(2)

() A-(3), B-(2), c-(a), D-(1)

(©) A-(3), B-(2), (1), D-(4)

O A-(4), B/3), ¢-(2), Df1)

IRT 1 99 2 7 S 3T <o @ SIS

Hfegt ST W
(A) AT Y ) Rrerar
(B) PO L\ ) TS
;}Tnamﬁf ) HETEITER
(D) HEFSY (4) g

(@) A-(4), B-(2), C-(3), D-(1) _

(b) A-(4), B-(2), G+1), D-(3)

() A-(1), B-(2), C-(3), D-(4)

(9 A-(4), B-(3), CA2), D:(1)

YT 9 3FERBT T Hdgd) @ 4 G w®

& e

U




PCS_ )
)3 98. Shivanasamudra and Kalpakkam ar

/

: e respectivel
important for - X

(@) Thermal Power and (b) Hydel Power and
Nuclear Energy

(¢) Nuclear Energy and (d)
Hydel Power

Nuclear Energy

Solar Power and

Nuclear Energy

In February, 2023 India’s biggest helicopter

manufacturing plant was inaugurated in which

one of the following places?

(8) Tumkuru, Karnataka (b) Chakeri, Uttar
Pradesh

(d) Nasik, Maharashtra

99.

() Coimbatore, Tamil
Nadu

100 Which of the following is known as laughing gas?
(@) Chlorofluro Carbon (b) Ammonia

(€) Nitrous Oxide (d) Carbon Monoxide

101. With reference to the representation of Uttar
Pradesh in Parliament, which of the following
statement/s is/are correct?

(1) Uttar Pradesh has 31 seats allotted for Rajya

Sabha.
(2) 80 members of Lok Sabha are elected from
Uttar Pradesh.

Select the correct answér using the code given
below ~

Code -

(@) Both 1 and 2 (b) Only 1

(c) Only 2 (d) Neither 1 nor 2

102. Role of Human Resources in Economic

development, which of the following

statement/s is/are correct?
1. Effects of economic development on

population growth.
2. Effects of population growth in economic

development. :
Select the correct answer using the code given

below -

Code -

(@) Only 1

(c) Neither 1 nor 2

(b) Only 2 ;
(d) Both 1 and 2

g8,

99.

100.

101.

102.

Rrarregs vd deams A 68 g mewg)

&7
Wm"ﬁ (b) 51 oy wd
i Sl e St
(0) fYara woif wd  (d) Wik ufka wd
et wif T ST

wead) 2023 ¥ YR & GaY 99 selbrex i
w3 o1 ggurea FrafafEaa 7 9 fFa 2 w

BT oIT?
@G, Tfem  OKEPA, SR
() Pridey, AfeTg  (d) TR, TERTS

Preferfa @ fra &0 a1 &< ARl A9 B

w9 H ST ST 8P

(a) TARITART T Y (b) ST DY

@ywmﬁm}gﬁﬁaﬁm

wug # Stk Wy o gt @ §ed #

ferrforRae oMl § | ST W B /82

(1) 158 |91 & ol STR Io¥ $1 31 9
gl ®o

(2) ArPEHT B 80 Mo STR WRW ¥ FaifRm
wE T ]

i fAT v e @ v SR g —

'aia_
(a) Y 1720 2 (b) aa 1
(c) 2 (dFar1sma2

3Mieh T # HITa A BT ARTEH B T
4, FrefaRaa somt 4 @ o /9wl @/
1. nfiep faer o1 e gfe or g |
2. ST gfE @1 e Rert W 9|
A R T 9 & IR W FE SR BT T

PTG —

az‘?_
(a) Bga 1 (b) Haet 2
(€) 7 ar 171 & 2 (=21 1 SR 2
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103. of the following is no .
;::::;Epment goal targeted to be achieved by

20307
(a) Zero HUnger
(c) Good health and
well being
104. Hangul-deer is found in which part of India?
(a) In Rajasthan (b) In Kerala
(¢) In Jammu and (d) In Assam
Kashmir
105. First National Centre for Marine Biodiversity
(NCMB) of India is situated at -
(a) Puducherry (b) Jamnagar

(¢) Mumbai (d) Bhavhagar
106. with reference to the post’s in Secretariate of the
Parliament, which of the following statement/s
is/are correct?
(1) Common posts may be created for the
Secretariate of each House of Parliament.
(2) The Parliament has right to regulate the
' service conditions of Secretariate staff of

(b) Gender Equality
(d) Space Research

either House of it.
Select the correct answer from the code given

below —

Code -

(@) Only 2 (b) ‘Neither 1 nor 2
(c) Only 1 (d) Both1and2

107. With reference to India’s G-20 Logo, which of the
following statement/s is/are correct?
1. The logo has lotus with seven petals.
2. The seven petals of the logo represent seven
continents. :

Select the correct answer using the code given
below —

Code -

(@) Neither 1 hor 2

(b) Both 1 and 2
©) Only 2

iy t}ecrees
odian of (d .
"oyal palace. 9 Chief Officer o

Pargana
B-1-23) 15315 :

-

103. FrefRiferer % @ e < <t e 1 W T
8, RRY 2030 oy e b7 e <@ AT R?

@ 1 g (b) Affares G
©) 31 wRey vd (d) afciRer I |
TS -.

‘“‘W%ﬁ’mﬂmﬁmmwfgwwm

av

(@) RTSTver % (b) Bey H
vy (V517 3R Pedie (d) arm #
- {IRS BT gery TATSTIARIE)
@THTad) Reg %ﬁ? S
(a) g % By e %
(©) Hag ¥ (d) ¥reeR
106.ma%ﬂf%lﬂ1mﬁqﬁ‘f%_ﬁaﬁﬁ,ﬁmﬁ%
DI /] B FEY & /82

(1) ¥98 & g% W2 B AhEem @ R
st ugl @1 YR fbar s e 8-

(2) §9% @ U Al N wem B Ry
W% #FT v @ RfEf wd @
JRHR BIr 2 |

A QU T g @ wE SR B T @R -

He — o

(@) ®aer 2 A a1 &2
(©) Baa 1 (@) QK 1 qr 2
107. 9Rq & G-20 Ul fore & wend & Rrefeiea
B H QDI A1/ TR A/
Ui o § e deidt aren wee @)
g H |

e A T de BT WA R D SR B T
BTG —

3&?_
@admiawd2  BrERi1 2
(c) ®aa 2 (d) Daat 1

108. "TRIaR’ Hi o -
(a) SrferpreY S (b) BRHAMT BT A5
- fRae—farame # CISIRCIEERR]
| BICT 2T |
© ST 9y (d) R H 9HE
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N
ong the following translated 300

. Wwho am .
& Wpumes of Sanskrit books collected by Firoz
VO

ruglag during the campaign of Nagarkot?
(a) Azizuddin Khan (b) Mulla Abdul Bagi
() MirzaMuhammad  (d) Talib Amuli
Ali
110. gjological Oxygen Demand (BOD) is a standard

criteria for -

(ayMeasuring Oz level in blood

(b) Pollution assay in aguatic ecosystems

(¢) Assaying O: level in high altitude regions

(d) Computing O; level in forest ecosystems

111. With reference to Union Finance Commission,
which of the following statement/s is/are
correct?

(1) Finance Commission hés a Chairman and six
members.

(2) It submits its report to the NIT] Aayog.

Select the correct answer using the code given

below -

Code -

(@) Only 2 (b) Neither 1 nor 2
(¢) Both 1 and 2 (d) only 1

112. What was the name of the female Regiment
constituted as a part of the Azad Hind Fauj by
Netaji Subhash Chandra Bose?

(@) Rani Jhansi: (b) Veerangana
Regiment Regiment

(¢) Bharat Mata (d) Rani Bhabani
Regiment Regiment

3. By which year the target of population stability
has been fixed in India?

(@) Year 2080 (b) Year 2070
(¢) Year 2045 (d) Year 2075

[D-1-23] 15310}
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IpIC
ms.ﬁfﬂﬁﬁﬂﬁﬁﬁﬁquaﬁm%
s @ AR dfRd 300 HEPd A%

ardre fbar?
(a) SrSAISEEIT & C% b
(¢) forett qEwT ST (d) arferd el

10, gfaforer aifeor s (dLaet) ik
mwwﬂmg? s
(a) <aer 3 aitedior @ <R 1 S $ f

1) srefva SRRerfvs < 3 srer a1 it @ forg
(©) S S A &t ¥ sifadier A S B
ferg
@ 7 R e 3 sfefio & WX @
v @ forg
1. 5y fag smam @ wed A Fefafaas § 9
BT /A BUT TEY & /87
(1) o omanT 3 U 3reer 9T B Wad B & |
(2) I8 U1 wfas= =ifa SmART Hi UIgd B
g ,.
e fiU M e F A WA SR BT I

{alzﬁaaz' (b) F a1 151 & 2
WM‘HT (d) &aer 1

112 TS g T AN gRT T R W @
o7

@) 3T S e (b) St :
bt T Mfofe

) TR ¥ RS (&) < s Yo

FeiRe e oy %.;__q
() a9 2080 T, (b) a¥ 2070 g
(©) 382045 725 (@) a9 2075 7

AT
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114. Given below are two statements, one is labelled 4. 4 g7 FeH

s Assertion (A) and other is Reason (R) -

Assertion (A) — The Tamil Nadu coast remains dry

during South-West monsoon
season.

Reason (R) — The Tamil Nadu coast is situated
parallel to the Bay of Bengal branch
of South-West monsoon and it lies
in the rain shadow area of the
Arabian Sea branch of the South-
West monsoon during monsoon

season.

Select the correct answer using the code given
below —

Code -

(@) (A) is true but (R) is false
(b) Both (A) and (R) are true and (R) is correct
explanation of (A)

(¢) Both (A) and (R) is true but (R) is not correct
explanation of (A)

d) (A) is false but (R) is true

115. Which of the following statement is correct? 115.

(1) Ram Ganga river joins the Ganga at Kannauj.
(2) River Betwa joins the Yamuna near Prayagraj.
Select the correct answer using the code given
below —

Code -

(@) Only 2 (b) Both 1 and 2

(¢) Neither 1 nor 2 (d) Only 1

116. As per Social Progress Index, released in 116

December, 2022, which of the following are on
top three positions in very high social progress in

¥ Rt w1 afimer (A) oiR

TR B HROT (R) T T & —

Afper (A) — SRvw-oRem aFgE Wem @
GRF AferTg aC Yeb &1 R |

4

PR (R) — AfHITg e drel o1 @ISl & I
%ﬂﬂﬁiﬂ?ﬁuﬁéaﬂ?a’%m—ﬂﬁmf
A @1 3Rd AR e &5 |

Rera 2 |

e R U g 9 9@ e gfhiw —

S

(@) (A) ¥g & freg (R) T &
/m*xfrq (R) S wg &, 3R (R), (A) B

R T &

(€) (A) 2R (R) ST e &, S (R), (A) & &)

RN Fe] Pl &

(d) (A) 7Terd & g (R) O
fFreafefRaa womt # | B w9 22
(1) Y™ T T He @ 9T T e § e

[2}ﬁwww$wwﬁﬁﬁaﬁl

i QT T HE ¥ v S g -

2|

3
ﬁ_

a) had 2
lc}/“lra‘rr—naz

llb}?."ﬁ"‘ilﬁenz
(d) B 1

feweR, 2022 § o wEfE Wit gEdie &
SUR feR-1 ¥, fr=fafea & & & fa 5=
wEife gt 3 Y 9 e w80 '

Tier-1?
':-a} Pnndicherry, {b} Mizgram, Himachal W, Eﬂaﬁﬁq aﬁ? {b) ﬁ:l\_{hw, f%’ql?-lﬁ
LGakShadWEED and Pradesh and Ladakh Mar 7oy IR e
0a
(©) Ke d H
©) Kerala, Nagaland  (d) None of theabove (c) @R, AATAVS 3R | %ﬁéﬂﬁ Bg
R o Meghalays HEITCTY
e E"A Lz »” .
o, enda=21"of Rio Summit, 1992 is related  117. RalY R RIS, 1992 T q@ﬁﬁ-n e
@) Preservat g —
on : .
{ Ozone layar = (b) ﬁ“StalHable (@) ST ORd B @’Tﬂﬁﬁ e ¥
) p evelopm ’ s
p?:::ﬁ;e" F'a'-fs (d) Enwru:rn:::al (c) Bl -\er (d} W fg-l-a;“ %
wtmn !ﬁl S & {ilii
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118. gy wR &d & —

{I.:-} Haet AraEr

E 118. Trophic levels are formed by -
(a) Plants only (b) Carnivorous animals (a) Daet qET |
only T.ﬁ‘v@aﬁ Jq ‘
(c) Organisms linked in (d) Animals only (e} gl | Sirai (@) ®dad cascll 5|
@ ag 8 ¥

food chain

119. on which of the following, proved charges the :
Finance Minister Nadhim Zahawi was sacked weadl, 2023 1 fAfeH FEETA #& gIP &N
A R W A T S @Y el f&an

from the Government in February, 2023 by the

British P.M. Rishi Sunak? or? ;
P LT b) d TS
(a) Disclosure of Secrecy(b) Sex Scandal & iﬁ &
; Mo=rar H H
of the Cabinet
- ® PRV

(¢) Tax Scandal (d) None of the above () 2 DU (d) Soiae ¥ A P A0
120. chandraprabha Wildlife Sanctuary is situated in 120. gegy¥l g=auiid PIRTY ST weE & e SIS

which district of Uttar Pradesh? H fRerg 87

(a) Chandauli (b) Baharaich (a) Tl by Tz

(¢) Sonbhadra (d) Lakhimpur Khiri (c) IS (d) TEHGR ERI

121. YeaT 3 AT P darel SIFAY HEAK §

(a) GETATRR SR () wofema SIFTaR
(c) T SR (d) faet 99T aTel AR

122. 9Ra @ FETARETS) @ wef ¥, el wer

121. pesert dwelling animals are called -
(a) Arboreal animals  (b) Xericoles animals

(¢) Terrestrial animals (d) Fossorial animals

122. With reference to the Attorney General of India,

which of the following statement/s is/are R e | O/ B /‘g?
correct? e : | (1) o ﬂﬁ?qﬁw@mﬁaaﬁﬁgﬁa
1) A person is appointed as Attorney General,

| }whz is qualifiezio be appointed as a Judge of EEdiE T 1 PRI, R
the Supreme Court. | ﬁgﬁ g & fog afeq &1l —

(2) The Attorney General can be removed (2) FETIRIAIE BT SAB UG ¥ S ufen 9
through the same process as the Judges of the TETRT ST Wwﬁﬁ ST e @
Supreme Court. | rrefE @ | |

Select the correct answer from tlje code given P —— S ety o

below — _

Code - Res

(a) Both 1 and 2 (b) Only 2 }?Jél’ﬁ 13RI 2 (b) Pac 2

(¢) Neither 1 nor2 (d) Only 1 | () 7 a1 1 & 2 (d) Haa 1

R e T

e



123. Given below are two stateménts, one is labelled 123- 5=t &t o g, fored 9 T Pl SIECRE (A)
as Assertion (A) and other as Reason (R): 3R TEX B BRI (R) @&T 777 2 | _
Assertion (A) -12 Cheetahs arrived from South 3o (A) - BN, 2023 § 12 DGl BT <fem
Africa to India in February, 2023. AMBRT Q AR oI TAT & WK
Reason (R) - Restoring Cheetah popuiatiun.is i PR (R) - et @ arare) 2y GERAT AR P
considered to be a priority for India. b TR 2 | / . ’

Select the correct answer using the code given fl Y R T3 e ¥ TE TR HT T BIfoTg —
he;:nw— {Eﬂ T —
;? Beath (A) a:d (R) are true but (R) is not correct @ (A)SIR (R) W & far'g (R), (A) 1 w1 e
explanation of (A) Tel B &
(b) Both (A) and (R) are true ang (R) is correct (b) (A) SR (R) ST W1 & @i (R), (A) B WS
explanation of (A) . YRAT HRAT &
(€) (A) is false but (R) is true o0 (SY(A) T 2 ﬁb_ﬂ (R) 9 &
- (@) (A)is true but (R) is false & () (A) ¥ & fobg (R) Terer 2
124. Where was the ‘Sudarshan Prahar Army 124 Rxiar 2022 3 "YU TR VY ARy ey
. Exercise” carried out jn December, 20227 Eu fopam Ty 272
(@) Rajasthan _ (b) Gujarat (8) RToTeerH (b) oI
(¢) Uttar Pradesh (d) Madhya Pradesh (¢) SR ye9r (d) #7e7 gy
125. Which of the following factor is the most 125. e % & B W Pre sia—fafdear &
important factor for the Jost of biodiversity? - € B, fory Haifdes TEAL PRP 87
(@) Control of predators (b) Destruction of & (@) TR WR fvggso by arpfiiss a1
natural habitat - . fa:”m
(©) Pest control (@) Genetic assimilation N (©) Pl foiam @) smrqifres
126. Given below are two statements, one is labelled  126. 3y =) B &, R ) v oy STHDHAT (A) aik
as Ass?rtic;n,{A}Tind:thec;' as Reason (R) — : TR BT HROT (R) a1 97 & —
Assertion (A) - The resident can recommen to
the Parliament to change the 00 M= 19wl vy i ?ﬂm S Y
boundary of any state after t‘c\jj [ TSI WS < ®
seeking views of the concerned e ¥R e fg NSOl g
Legislature of that state on the o N $ g ENRT Y
subject within specified period. | UKTT I RgR Uh WART arafy
Reason (R) - It is not mandatory for the President & AR T Py $

to accept the proposal of the BROT (R) — TSR Y gy T R S

concerned State Legislature.

bS;f;:t _the curre;t answer using -thg code given % P %j"; %ﬁ%ﬁyﬁ %_i |
(@) Both (A) and (R) are true and (R) is correct @ (A) 3R (R) T W=y g 3R (R), (A) BT W&
explanation of (A) | TET HRAT &

(b) Both (A) and (R) are true but (R) is not correct (b) (A) S (R) AT w1y & fb=g (R), (A) DT T

' el e &
explanation of (A} i
(¢) (A) is false but (R) is true (d (A) e & foreg (R) Wy 2
(d) (A) is true but (R) is false (d)(A) 97 8 fP=g (R) Tt 2

e T ;|
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127. Consider the following events and arrange these

in correct chronological order starting from the
earliest to the last activity —

128.

129.

(1) Appﬂfntn’IEHt of the Drafting Committee ;
(1) Indian Constitution was adopted and enacted @/ (1) MR Ifgs @1 SrEfed W
f Indian ﬁﬂT
() Date of commencement o 7
Capstitaon (1) 9= e @ e & R v
(IV) Constitution Assembly first met /) (V) F e 3 w//
Select the correct answer from the code given 43 U T e S FT T Lo —
below — e it
e }_“-} {5 1, I, 1, IV (b) v, 1, 111, 11
(@ i, 1, 1, IV (b) v, 1, 111, 1 = AR L
’ ™ (o3 S AV | PR 1 (d) 1, 11, 1v, M
() v, 1, 11, Il (d) 1, 11, v, NI ON o Al | -
128. 75 frarr, 2022 P, FEfaRad 4 ¥ fed

On 25t December, 2022, which of the following

countries extended mandatory Military Services
for one year to those males who were born after

aRT 1 Fad, 20:3_5,_%@317#%‘33"5“‘73\’%’3
v o & A dar aifard B @ AT

01 January, 2005?
(a) Myanmar - (b) Taiwan 2 (a) RITHR (b)<rgar
(¢) Sri Lanka (d) Afghanistan O (c) =it (d) STHITIEIT

Given below are two statements, one is labglled

as Assertion (A) and other as Reason (R)—

Assertion (A) — The President is a part of the
Parliament.

Reason (R) — A bill passed by the two Houses of
the Parliament cannot become 3
law without the assent of &the
President. s

Select the correct answer using the code given

below -

(@) Both (A) and (R) are true but (R) is not correct
explanation of (A)

(D) (A) is true but (R) is false

(¢) (A) is false but (R) is true =2,

o

(d) Both (A) and (R) are true and (R) is caﬁfect

explanation of (A) o

129. 913 2 B & orr & @ @ G (A)

3R gER BT SR (R) HET TAT & —

W{A)—Wﬁﬂﬁwmﬁl

W[R}—W_ﬂ%ﬁﬂﬁmmﬁﬁw
reeyfer B qeAfd & o1 B Tel
g9 DAl © |

A T T S F1 ST FRb FEl SR P

TR BITT —

@A) 3R (R) IHT T B, fog (R), (A) @1 Wel
ARAT 8] BT ©

(b) (A) HT & =g (R) T 8

(©) (A)Trera & freg (R) 9T B

(d) (A)3R (R)SHI ¥U & 3R

(R), (A) @
AT BT & |

130. sy S @ v ¥, FrefeRaa e ¥ ¥

130. with reference to the Captain Hawking’s, which
of the following statements is correct? P T TE 87 .
(1) He came to India in 1611 as an envoy of ()78 1611 F 7 — | i o meg g T
James - |, AT | |
(2) He was very well versed in Turkish language. g8 Gl W11 BT 98T srag] sl S
(@) Both 1 and 2 (b) Only 2 F 1 qe 2 (b) @aeT 2 |
©) Only 1 (d) Neither 1 nor 2 (¢) Pt 1 M
(D123] 153101 Page 250132 (T
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*3,ﬂis= With reference to the Composition of the

s Legislative Council in a state of India, which of the

following statement/s is/are correct?

(1) In the Legislative Council there may not be
more than one-third mempers of the total

membership of the Legislative Assembly of

! T8 & ey ¥ |
l'?} :‘:Zt’;;is?;tive Council of 3 state must have at (25 S Ehnr foremry Rz 4 e ¥ il
- least fdrt'f members in jt. G| ST B B T:rrfg-qi
Ty Select the correct answer from the code given T oy Ty R W WE SR BT 9T BT —
. below —
4 Code - b0t
(3 Both 1 and 2 (b) Neither 1 nor 2 -‘3”4% 13217 2 - () F Ay 177 & 2
() Only 2 (d) only 1 ©) Fagr 7 (d) Baet 1
132. Who composed the Golden Globe Award winning  132. MNeST oy IR favrer frg are e’ &
song “Naatu Naaty”? XTATPR & —
(@) S.S. Rajamoulj (®) Devi Sri Prasad (@) T TR =T (b) 24t =t yoTE
(¢) A.R. Rehman (@ M.M. Keeravani ©) TR, T=my () TH.0H BRI
= 183, which of the following scheme/sis/are relatedto  133. Ferfoee ¥ w B W AT /T SR gy ki
Uttar Pradesh? sfeg & /82
(1) Anuthee Uphar Scheme (1) 3t SR ASTET
(2) Matra Shaktj Udyamita Scheme )1 sefr Ao
(3) Kaushalya Matritva Scheme 3 T
(4) Stree Nidhi Scheme | o {4@ AR T
Select the correct answer using the code given .
below — T RT3 W w1 e g
Code - e — _
(@) 2,3 and 4 (b) Both 2 and 3 @2 33aRkq. (b) <Y 2 3w 3
©) only1 (d) Only 2 (©) et 1 {W ¢
134. with reference to the joint sitting of Parliament, 134. Gy &) YR '3335 P e A ﬁf“lﬁ‘iﬁﬂﬁ BUA]
Which statement/s is/are correct? H A PBIET /W B Wl 5 /8?
(1) Article 109 provides for the joint sitting of (1) G]‘t]'ﬁ—c{ DY M | GEE P i) el P
both Houses in certain cases. ?ﬁ'gm d6F BT AT DRl & | -
(2) tThe :Peaker Presides the joint sitting of the (2) SFT Heat & G IS5 ) LT TN
W0 Houses of Parliament.
Select the Correct answer ys;j th de gi - o -
Bely INg the code given Fﬂ%ﬁQWﬁEﬁﬁﬁﬁTWW“
Code -
(@) Only 1 e = :
(©) Neither ¢ o3 {d) Both 1 ang » (a) 1 (b) ST 1 Tory 2
- ) Only

¥, ﬁwﬁﬁﬁﬁm/%mmw%/%"?

{l}wﬁmﬁqﬁqﬁﬁwmaﬁﬁmﬁﬂ‘maﬁ
%ﬂmﬁw%wmﬁaﬁm%_

© Far 197 & 2

(d) B 2




135. With reference to the recommendations of the
Ashok Mehta Committee (1977) on Panchayati
Raj, which of the following statement/s is/are
correct?

(1) The three tier system of Panchayati Raj should
be replaced by the two tier system.

(2) A block should be the first point for
decentralization under Popular supervision
below the state leval,

Select the correct answer using the code given

below —

Code -

(@ Only 1 (b) Both 1 and 2
(¢) Only 2 (d) Neither 1 nor 2

1°5. Eastern boundary of the Harappa culture s
indicated by which of the following?
(@) Manda () Alamgirpur
() Rakhigarhi (d) Harappa

137. What is the. theme of the Internationa| Day for
the Eradication of Poverty for 2022-23?
(@) “Dignity for all in practice.”
(b) “Accelerating. global actions for a world

without po verty.”

(c) “Coming together to end poverty and

discrimination,”
(d) “Acting together to empower children, theijr
families and communities to end poverty.”

138. Which type of vaccine protect against
Diphtheria?
(@) Toxoid (b) Live-attenuated
(©) mRNA (d) Viral Vector

139. With reference to the E.v. Ramaswami Nayakar,
which of the following statement/s is/are
correct? :

(1) He participated in the Non — Cooperation
Movement,

(2) He left the congress in 1925,

Select the correct answer using the code given

below —

Code -

(@) Neither 1 nor 2
(¢) Both 1 and 2

(b) only 2
(d) Only 1

1-23] 153101

139 S, ATt repe P w3

7 (1977)
135. garreli w157 4R areiyep dwar winfa gfads T (

G Rt o wjeaf % Freafefad o

H ¥ B W e & 27

(1) TEret W01 @ i vedr eaven @ e W
fexriia eraven 2R =1f2e |

(2) I WR B A e &g @IS D

R&=Ibxor &1 yory g H=T wr=T afey |
A R Y g 9 1 IR P T HR

%_
(a) Baa 1 (Wﬁanz
(c) Paer 2 @H?ﬁ’lﬁTﬁE

135.%%1@?11’1‘?[3?]:[@[#@%%@%
b1 FAEfvor dear 22
[Wﬁﬂw

(a) HUST
(c) IdTdY (d) sy

137. 2022-23 % forg TR Sy @ oY sy
feaw &1 fagg @y &2
(@) "ZraER § i % farg T
(b}"mﬁﬁmgﬁmﬁﬁﬁwa?ﬁﬁﬁnﬂ
e
(¢) T8y Sﬂvﬁaﬂmﬁwmﬁfﬁf’wwm |
3T
{di“ﬂ%waﬂ#f%%qaﬁ’tmqﬁmﬁ
ﬁ?wa‘fa?rmnmw#a%%qwm
BH BT |
133«%%%%%%%%}?

(a) Sfevares (b) =T S Frre
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140. pateh list-l with list-) and
aﬁsw&r using the code Biven b

elow —
List — 1 ”Et-"
(Mountain) {Cnuntrles}
/ (A) Kilimanjaro (1) Moroceq
;j' (B) Toubkal (2) Algeria
/é (C) Stanley (3) Tanzani,
;ff-’: (D) Hoggar (4) Uganda
| ' Code -
S A(4), 8-(2), ¢(3), b,
(b) A'{SJJ E'{‘I}z C‘fl), Dh'{z.]
(€) A-(3), B-(1), C-(4), D-(2)
fd} A'{d'}r B'{Ejr C'{Z}: D"'.{']-J
1. Non-canventionaf e

nergy soy rces

€nergy SOurces, that are -

(@) Prog uced from

®) Renews ble
electricity

(©) Produced from heat (q) Np'n-ren‘ewébié'
142. How many railways stations hav

(d) 82

143. ‘0z0ne layer absorbing ‘ultra - violet radiation

eXists in which of the atmospheric layer?
(@) Troposphere
(c) Thermosphere

(b) Mesosphere

(d) Stratosphere
144.

Southern Hemisphere?
(@) Temperature
(¢) Magnetic Field

(b) Pfassi:rg
(d) Coriolis force

| e
4. Which one of the following is the main objective

of Janani Suraksha Yojana?

(3) Reduction in neo-natal mortality rate only
(b) Reduction in
mortality rate

maternal

() Reduction in infant mortality rate only
(9) Reduction in maternal mortality rate only

s

Select the correct

dre those

e been identified

What caused wind to deflect towards left in

and 'npeo-natal
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T

@) A-(4), B-(2), C-(3), D-(1)

Bl A(3), 514, C-(1), D-(2)

) A-3), B(1), C-(4), D-(2)

D A-(a), B.(3) c-(2), D-(1) i
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446, HLTH. Trferertac “m:;z/g?
‘ i kti Scheme ., A FHU : 1 2022
i ference to ‘PM Gati Sha : 3 Hrdr/ ﬁ‘gﬂ'ﬁ“
52 f!:::h rea: “the following statement/s is/are (1) ST Rrafad—RTeaE AT
correct? i ional Plan was ilEs (@ red) |
The PM Gati Shakti Scheme-Nation ‘ ey e i |
5 jaunched in 2022. _ (2) “@u GTW Yo, TARAE, FaaTBl, I
(2) The PM Gati Shakti Scheme pertains to seven arg gAi (Fed. xel i A AfARED
engines (Roads, Railways, Airports, Por_tS‘ R e, S < T Tt
Mass Transport, Waterways, Logistics SraEEARI) P weiferer afRATeT :
Infrastrukctu;e]. NIP v:r‘ill be aligned with PM = & A et m’{;ﬂl
Gati Shakti Framework. 1 9T e gt
select the correct answer from the code given feAfefiad e H wEl
below — e =
Code - [a}qﬁhlﬂﬁz (b) &dci 2
(a) Neither 1 nor 2 (b) Only 2 18R 2 (d) a1
o ; - I rca il
(c) Both 1 and 2 (d) Only 1 ; e SrfRad Fort ® A .
147. With reference to the Puranas, which one of the 147. Hﬁﬁﬂui; |
following statements is correct? - _ 5 ]
(1) Information about the Mauryan dynasty is {1}1%:‘191 ORI H ﬁ’l‘ﬁ G L Ga G’H;’iaﬂi{ ti\‘;ﬁh
found in the Vishnu Puran. (@m ORTOT T ) I ARl HPIR]
(2) Vayu Puran throws light on the Gupta’s <o X
governance system. e () Bt 1
(a) Both 1 and 2 (b) Only 1 ; {C 2 ) = o 191 & 2
(c) Only 2 (d) Neither 1 nor 2 /Lﬂli (] i : i )
148. Which of the following pairs (School of Thought — 148. famfolRaa # 9 £ 12 6L g2 — WER®
Proponent) is correctly matched? & -ﬁﬁﬁ:ﬂ 9
' ' — (b) Mimansa - Kanada 1 :
(@) Uttara Mimansa . A 5 e
Kapila P/ﬁ'\’ Hrrar — Hite () [ ik
(c) Nyaya—Gautama (d) Vaisheshika — (©) = — (d) T — gaarer
Patanjali | | o
149. ‘Mount Newman’ is famous for which of the 149 HISUS Q@HW ¥ ¥ frg @
following minerals? gieg 87
(@) Copper (b) Manganese ' (a) Trem (b) W
(¢) Iron ore (d) Bauxite (c) AAIE 3D (d) el 27
150. Who among the following has authored the book  180- fmifafad # 3 ey R TP
“Spare”? (a) fBT =T (b vl
(a) King Charles (b) Prince Harry © fﬁﬂ’f SR (d) forg fosferd

(€) Prince Williams (d) Prince Phillip
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